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C C m m m/s, m cm mg/l | mg/ mg /2 mg/2 | MPN/100m0 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mS/m
2013.05.15 | 09:10 | #fids | W | 25.0 0.48 2.40 | 4.62|> 50| 7.6| 6.0 3.2 6.0 3 5.7 0.72 2150
2013.05. 15 | 11:10 | #fits | WF | 27.0 0.39 1.95| 3.04|> 50| 7.6 6.1 2.1 5.9 3 5.3| 0.65 1780
2013.05.15 | 13:10 | s | B | 27.0 0.30 150 1.32|> 50| 7.7 6.6 1.6 5.4 3 5.5| 0.67 3100
2013.05. 15 | 15:10 | s | B | 24.8 0.32 1.58 |- 1.00|> 50| 7.8 6.7 1.9 6.2 5 5.2 0.69 3890
2013.05. 15 | 17:10 | #fids | B | 22.0 0.43 2.15 |- 2.54 > 50| 7.8| 7.3 2.6 6.2 6 5.0 0.66 4300
2013.05. 15 | 19:10 | #fits | WF | 19.2 0.53 2.65( 0.21 10| 7.8| 8.5 1.9 7.5 5 5.2 0.68 3490
2013.05. 15 | 21:10 | s | B | 19.0 0.56 2.80| 5.85|> 50| 7.8| 7.4 2.1 5.4 3 1.8 0.61 2040
2013.05. 15 | 23:10 | s | B | 17.8 0.52 2.60 | 142|> 50| 7.7| 6.5 3.8 6.7 3 5.2| 0.60 932
2013.05.16 | 01:10 | #fids | B | 18.0 0.44 2,20 1.83|> 50| 7.7| 6.1 6.1 6.8 3 6.0 0.60 1560
2013.05.16 | 03:10 | §fits | WF | 17.6 0.44 2.20| 0.25|> 50| 7.6| 5.8 7.8 6.8 4 5.4 0.61 657
2013.05.16 | 05:10 | s | B§ | 17.6 0. 50 2.50| 0.89|> 50| 7.6| 5.9 5.9 7.0 3 5.4 0.68 1120
2013.05.16 | 07:10 | > | B | 22.0 0.55 2.75 | 3.47 38| 7.6| 57 7.8 7.7 4 5.6 0.71 1300
2013.05.16 | 09:10 | #fids | B | 26.0 0.52 2.59 | 4.91 35| 7.6| 6.5 9.0 8.0 3 6.2 0.80 2930
PEE 21.820.6 1.87 47| 7.7 6.6 4.5 6.6 4 5.4 0.67 2250
I/ IMIE 17.6 | 18.2 - 2.54 35| 7.6| 5.7 1.6 5.4 3 48] 0.60 657
I ARAE 27.0 | 23.0 585> 50| 7.8| 8.5 9.0 8.0 6 6.2 0.80 4300
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C C m m m/s,m cm mg/ | mg/ mg /2 mg/2 | MPN/100m2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mg /2 mS/m
2013.11.27 | 09:10 | iy | 0§ | 12.2]12.6 | 0.46 2.28| 0.20|> 50| 7.6| 7.0 2.2 1.8 3 8.4 0.41 1210
2013.11.27 | 11:10 | yfgds | W§ | 14.1]13.0 | 0.52 2.62| 0.62|> 50| 7.5| 7.4 2.9 5.0 2 9.3 0.20 913
2013.11.27 | 13:10 | gl | W | 15.0 | 13.6 | 0.52 2.60| 2.85|> 50| 7.4| 7.4 3.5 4.6 2 9.1 0.41 1100
2013.11.27 | 15:10 | g0y | W | 14.8 | 13.4 | 0.49 2.43 | 4.27|> 50| 7.5| 7.4 3.0 5.4 2 9.4 0.38 1270
2013.11.27 | 17:10 | gy | 0§ | 12.0 | 12.6 | 0.46 2.30| 1.96|> 50| 7.5| 7.9 3.3 5.4 2 9.2| 0.33 823
2013.11.27 | 19:10 | s | 0§ | 13.6 | 12.2 | 0.41 2.07| 0.50|> 50| 7.6| 7.9 3.1 5.3 2 8.8| 0.32 1260
2013.11.27 | 21:10 | i | W | 12.2]12.6 | 0.42 2,10 0.34|> 50| 7.5| 7.7 3.1 4.9 2 8.9 0.30 1340
2013.11.27 | 23:10 | i | W | 13.6 | 13.0 | 0.49 2.47| L84|> 50| 7.6| 7.7 2.8 4.4 2 9.5| 0.37 1610
2013.11.28 | 01:10 | iy | 4% | 14.0]13.0 | 0.49 2.45| 0.21|> 50| 7.6| 7.7 3.1 1.3 2 9.1 0.42 1810
2013.11.28 | 03:10 |yl | 4% | 14.0]13.0| 0.48 2.39| 1.83|> 50| 7.6| 7.6 3.0 4.8 2 10| 0.41 1360
2013.11.28 | 05:10 | s | 4% [ 13.6]13.0| 0.44 2.18| 0.72|> 50| 7.6| 7.1 3.5 5.2 2 10| 0.45 1030
2013.11.28 | 07:10 | gy | 4% | 13.8 | 13.0 | 0.41 2.05| 131|> 50| 7.6| 7.0 3.5 5.2 2 9.9 0.43 832
2013.11.28 | 09:10 | ity | 4 | 15.0]13.0| 0.45 2.26|-2.94|> 50| 7.6| 7.2 3.4 5.2 2 9.0 0.45 1130
PR 13.7]12.9 105> 50| 7.6 7.5 3.1 5.0 2 9.3 0.38 1210
/M 12.0]12.2 -2.94|> 50| 7.4| 7.0 2.2 4.3 2 8.4 0.20 823
e KAE 15.0 | 13.6 4.27|> 50| 7.6| 7.9 3.5 5.4 3 10| 0.45 1810
m, k 0 0 0 0 13
n 13 13 13 13 13| 13 13 13 13 13 13 13




